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mB A4 X EH | IR AR (FITEM flfi A% k1
BHYN 8 &8 5kg & kg 900 EiB
BHHN 102 LEdon) 5kg i kg 850 i
17 45/46 2 = 5kg = kg 700
) 7/8kg =L 1A ) kg | 2,450 EiE
21 8/9kg RER 1A 5 kg | 2,450 EE
T 10kg == 1A e kg | 2,900 FiE
7Y 5/6kg =5 1A 8 kg | 2,000 EiE
ES<Y 8/9kg RIG 1A 4 kg | 2,200 EiE
hy#t 5kg =G 1A 8 kg | 2,600 #
A5 A 4/5kgH ERS 1A e kg | 2,300 £
iR 2E == 3kgEd 8 kg | 2,000 IMA
< B A 4E EEdbn 5/5.5kg 8 kg | 3,600 # BEH
£ HA 5 Gide 5/5.5kg 78 ke | 3,500 # BEH
<4 2E B 2kgd = kg | 2,500 EiE
H£I5R IR 100g P P 550
RAIVKRZILAH EE 300g P P | 1,300
LL#H X 5B 1kg P kg | 1,900 7B
LL& EiR 1kg P kg | 1,400 7B
NI4T 30/50g FE Tkg BT kg kg | 2,300
NT45) 60/80g FE 1kgBifi kg kg | 2,500
HHT 100/130g R 1 kg | 2,200
HryF B #9300g dtimE & kg | 1,900
HILE 400/500g 5 & kg | 2,600
Em75 20/30g dtimE & kg | 2,300
ByJH 20/30g s {El kg | 2200




